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MERIE
NADPase RE L NADP /K fi# 4 NAD+ARITCHLBE 1 S, It il 5 T Lk i Bk I %€ NADPase i1 -

PR ey (X BN -
AR ERAKE . SO, FTEERRES . 1 mL BRI, BHEE. DORIZRIRIK

RIAILERR FOECH «

PR : 60mLx1 i, 4°CIRAF.

WA= Witk 30 mLx1 3, 4CIRAE.

B xS 3, -20°CHRA7: RSO 1 mL 350 — 7/ iR & B A 52 1038050 7 2 )5 -20 C R AT,

A8 1E IR SRR

WA= M1 I, 4CHRAFE. FIBIIAN 25mL ZE48K, #AE 4 CrRE—H.

WRAIPY: H7x1 I, 4CHAF. FBRTIA 25mL Z8187K, RS 4 CrlfR7E— .

WAL Witk 25mLx1 i, EIREE.

RF7S: 10mmol/L ARSI 10mLx1 i, 4°CHRAE.

0.5pumol/mL ARAERER L H . 7S 20 AR, BIEL 0.5mL 577500 9.5 Z818K, AR .

SEBHRFAECH: 3% HoO: B =R I R Fi=2: 10101 BRI EC ), Mo (5 k)
RONHERE A, FHOENERARAL, 2B a5 gy, & BRI I .

R AR R BT PR . SR BSOS, BT DU — IR SRR L, 3k S S G

HARRRTRE:
HIBHAFE (g « RBUBAEMRmMLYN 1: 5~10 (HH] CRIRENZ) 0.1g 4L, A ImL $#2B0GR), 3
ITUKIRAIH . 8000g 4°CEE 0> 10min, HL EiE, Buk B4R,

BRIELER:
1. B
WAL (UL e R
A 300 300
177 - 100 100

37°C (WEFLENY) 8% 25°C (HEWF) T Smin

FEAR 100




ZRIBIK | 100

37°C (WFLEh)) 8% 25°C (e HERIR Y 30min J5, 95°C/KIA Smin (5%, LDLBFIE/K G805, ¥
HJ5, 10000g 25°C &> Smin, HL i

2. E
PRAEE TAE blye=g X R
0.5pumol/ml Az HERE N FH ¥ 100
ZETK 100
FIEW 100 100
5E T 1000 1000 1000 1000

VBA, 37°C UMAFY) 8 25C (e /KB 30min, AHEZRR, £ 660nm 4, ZHEEKEE, i3
FE W AE .

AEE:

I WA RATIE. R PUEKHE sl TR E B U R M, 080 — i, 5 O B AR
PERRER R MW, — B EEURAREH T4, B MBE R IR R, I B oRoKah, e 28K P T4
I P — U RS BORT BT 3 S S A A DI BRI ) R

2. BRAEER . AR IR R T,

NADPase BgiETEITE
1. PGV AR T
BN BN R TEH 43 1 NADPase 70 NADP 74 1pmol TEHLBEI & A—4 NADPase i /75407 .
NADPase (umol/h/mg prot)=(C FRUEE <V &)x(A M EE-A X HE) (A RS -A THE)~

(V BExCpr)=T=5x(A Tl & -A X ) ~(A b E-A 23 [18)+Cpr
2 FUREASE A
X BN g 4141 NADPase 43+ NADP 724 1umol TEHLEE & A—1 NADPase % /1 5.4
NADPase (umol/h/g fif B )=(C FrifEE xV E)x(A M EE-A W IRE) (A FRHEE-A THE) x
V E(Wx V=V FER)-T=5x(A M E-A M EE A frilEE-A TAE)»W
CARtEE: PR, 0.5umol/mL; V .&: BR{ERMEMAEFL, 0.5mL; VA IAFEAMAER, 0.1mL ; V
FEE: IINPREGRAARR, 1mL; T: RMEIE, 0.5 /NS; Cpr: FEAREAMKE, mg/ml; W: FEAEEE,
go




